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Answer all questions.

All questions carry equal marks.

Only onc answer is to be given for each question.

If more than one answers are marked. it would be treated as

WrOng answer.

5. Each question has four alternative responses marked serially
as 1, 2. 3. 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheetusing BLUE
BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Tesl Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will he
deducted for each wrong answer. A Wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

L 4. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question. the English Version w ill be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his’her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently
from all future examinations.
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If mean is 25 and standard deviation is
5. then co-efficient of variation (cv) 1s :
(1) 100%

(2) 25%

(3) 20%

(4) None of these

What do you mean by local control in

statistics ?

(1) The allocation of the treatments
under investigation.

(2) The allocation of the treatments to
the different experimental units.

(3) The principle of making use of
greater homogeneity in groups.

(4) When the fertility gradient is in
two directions.

In split plot design more precision is
obtained on the measurement of :

(1) main plots

(2) sub plots

(3) ultimate plots

(4) all the plots

ch:ree of freedom in a 2 X 2 contingency
table is :
() 1
(3) 3

(2)2
(#)+4

If both the series move in the same
direction and the variations are in a
fixed proportion, correlation between
them is said to be

(1) Perfect correlation

(2) Linear correlation

(3) Non-linear correlation

(4) Perfect positive correlation

According to Vavilov, the centre of
origin of onion is :

(1) Pakistan (2) France

(3) South America (4) England
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When a cell is fully turgid, which of the
following will be zero ?

(1) Turgor pressure

(2) Water Potential

(3) Wall pressure

(4) Osmotic pressure

Due to low atmospheric pressure, the
rate of transpiration will :

(1) Increase

(2) Decrease slowly

(3) Decrease rapidly

~ (4) Remain unaftected

Stomata of CAM plants :

(1) never open

(2) open during the day & close at
night

(3) are always open

(4) open during the night & close
during the day

If the same tax rate is imposed on all
income groups it is called as

(1) Regressive taxation

(2) Progressive taxation

(3) Proportional taxation

(4) Digressive taxation

In the balance-sheet, when assets are
less than liabilities, it is known as

(1) Net worth (2) Net deficit
(3) Net equity (4) Net liabilities

Which term is related to ‘Seven Ps’ of
credit ?

(1) Principle of productive planning
(2) Principle of productive personality
(3) Principle of productive payment
(4) Principle of productive purpose

The tilt angle of the disc plough should
be between :

(1) 10—15° (2) 15=25°

(3) 25-35° (4) 35-40°
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Mechanical manipulation of soil is
called as

(1) Tillage
(3) Sowing

(2) Threshing
(4) Scoring

The spray angle of hollow cone nozzle
1S

(1) 60-90°
(3) 30-060°

100 - 150°
150 —200°

(2)
(4)

The head office of Directorate of
Marketing and Inspection is situated at
(1) New Delhi (2) Nagpur
(3) Faridabad (4) Kanpur

The marketing function which help in
widening of the markets is :

(1) Buying & selling

(2) Transport function

(3) Storage

(4) Processing : '

On the basis of time, the loan provided to
the farmer for purchasing the milch
cattle, is called :

(1) Short-term loan

(2) Long-term loan

(3) Medium and long-term loan

(4) Medium-term loan

The term entomology derived from
(1) Japanese word (2) French
(3) Greek (4) English

Scientific name of European honey-bee
i8]

(1) Apis dorsata

(2) Apis mellifera

(3) Aphis indica

(4) Melipen spp.

Which of the following source improve
soil structure ?

(1) Nitrogenous fertilizer

(2) Phosphatic fertilizer

(3) Green manure

(4) Potassic fertilizer
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Select the pair which is not correctly
matched. '

(1) Emmer Wheat — 7. dicoccum
(2) Macaroni — 7. durum

(3) Mexican wheat — 7. aestivuni
(4) Indian Dwart wheat — 7. Vilgare

The physical condition of soil in
relation to plant growth is called as
(1) Tillage (2) Soil tilth
(3) Adherence (4) Coherence

Which of the following is a high salt
tolerant crop ?
(1) Tomato
(3) Turnip

(2) Urd
(4) Moong

Pusa Phalguni and Pusa Barsati are the
improved cultivars of

(1) Moong (2) Urd

(3) Pea (4) Cow Pea

Which of the following causes
pungency of mustard oil ?
(1) Phenols (2) Amino acids

(3) Glucosinolates (4) Erucic acid

Which one of the following variety of |
barley is nematode resistant ?

(1) Jyoti ' (2) Ratna

(3) Karan-19 (4) Raj Kiran

Indian camel has
(1) Single hump

(3) Three hump

(2) Double hump
(4) No hump

Which soil structure is most desirable
for agriculture ?
(1) Blocky

(3) Columnar

(2) Platy
(4) Granular
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Gladiolus is generally propagated by
(1) Tuber (2) Corm
(3) Rhizome (4) Bulb

Guava belongs to family
(1) Myrtaceae
(3) Euphorbiaceae (4) Rosaceae

(2) Caricaceae

Which variety of mungbean is suitable
for cultivation both during rainy and
summer season ?
(1) Type-I1
(3) K-851

(2) Pusa Baisakhi
(4) Varsha

Pectin is measured by
(1) Jel meter (2) Thermometer

(3) Refractometer (4) Solometer

Happy End and Friendship are
improved varieties of
(1) Rose (2) Gladiolus

(3) Carnation (4) Marigold

Which of the following weed comes
under sedges group ?

(1) Digera arvensis

(2) Cynodon dectvion

(3) Chenopodium album

(4) Cyperus rotundus

The relative percentage of sand, siltand .
clay are called

(2) soil texture
(4) bulk density

(1) soil profile

(3) soil structure

Inter-culture operation in groundnut is
avoided at

(1) Flowering stage
(2) Seedling stage

(3) Pegging stage

(4) None of the above
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Sandstone and limestone are
(1) Sedimentary rocks

(2) Metamorphic rocks

(3) Primary rocks

(4) lIgneous rocks

Which of the following is dual purpose
breed of cow ?
(1) Sahiwal
(3) Mewati

(2) Gir _
(4) Tharparkar

Which of the following is concentrated
organic manure ?

(1) Compost

(2) Sewage and sludge

(3) Vermicompost

(4) Neem cake

According to Planning Commission,
the broad agroclimatic zones of India are
(1) <15 (2) 35

(3) 120 (4) 40

The sodic soils need treatment with
amendments like

(1) Zinc sulphate (2) HCO,

(3) Gypsum (4) Carbonates

A reaper is used for

(1) cutting crop

(2) cutting and windowing
(3) cutting and threshing
(4) All of the above

“Lal Bagh™ garden is located at
(1) Delhi (2) Kolkata
(3) Bangalore (4) Pune

Precursor of natural auxin is
(1) Glycine (2) Methionine
(3) IPP (4) Tryptophan
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" (1) Agriculture

Late blight of potato caused by
(1) Phyvtophthora

2) 'Rrrhium 3

(3) Spongospora

(4) Pernospora

Production of seeds from unfertilized
egg or nucellar cells is known as

(1) Apospory (2) Apogee

(3) Apogamy (4) Apomixis

The full form of ATMA is

Technology
Management Association

(2) Agriculture Technology
Management Agency

(3) Agriculture Technology Mission
Agency

(4) None of the above

Which test is applied for the test of
significance between two variances ?
(1) t-test - (2) z-test

(3) x-test (4) F-test

Royal jelly is the product of
(1) Lac insect

(2) Silk worm

(3) Honeybee

(4) All of the above

Root Knot nematode is .
(1) Meloidogyne (2) Heterodera
(3) Tylenchus (4) Partylenchus

Growing of plants without using soil 1s
known as
(1) Hydroseedlings

(2) In-vitro culture

(3) Hydroponics
(4) Hypertrophy
The Central Research Institute for
Dryland Agriculture is located at
(1) Lucknow (2) Nagpur
(3) New Delhi (4) Hyderabad
o
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A cropping system in which food crops
are grown in association with hedge
row of trees or shrub is known as

(1) Alley cropping

(2) Mixed cropping

(3) Intercropping

(4) Mixed intercropping

The highest production of mustard in
India is in the state of

(1) Gujarat (2) Uttar Pradesh
(3) Punjab (4) Rajasthan

Bengal famine in rice due to

(1) Blast

(215 B 0B

(3) Helminthosporium leaf spot
(4) Sheath blight

Water harvesting is defined as

(1) Application of water at the time of
harvesting crops.

(2) Harvesting deep water trom soils
by pumping devices.

(3) Unit of water applied to crops.

(4) Collecting the excess run off trom
rain on the farm in ponds and
utilizing it later for agriculture.

Proper spacing of paddy crop is two to
three seedlings per hill at a spacing of
cm distance under normal conditions
(1) 10x5em * (2) 10x10cm
(3) 20x 10 cm (4) 20x20cm

Ganga-lI is a hybrid variety of which
crop of Rajasthan ?

(nH Paddy (2) Maize
- (3) Wheat (4) Gram
Nitrogen requirement of cotton is

kg / hectare
(1) 50to 60 kg 2)
(3) 60to 70kg ~ (4)

80 to 100 kg
30 to 40 kg

14
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70.

71.

72,

74.

75.
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(1) 130 (2) 126
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11

69.

70.

i ¥

72.

74.

78,

Under NARP programme how much
agro-climatic zones were regrouped ?

(1) 130 (2) 126
(3) 50 4) 15

National Agromet Advisory Service
Centre is situated
(1) New Delhi
(3) Coimbatore

(2) Pune
(4) Jodhpur

Who is considered as father of tillage ?
(1) Mark Wack  (2) Jethrotull
(3) Cowling (4) Anglo-Saxon

Which is straight fertilizer ?
(1) Diammonium phosphate
(2) NPK

(3) Urea

(4) Nitrophoska

Green manure plants used by farmers
mainly belong in rice fields is

(1) Compositae  (2) Leguminosae
(3) Solanaceae (4) Poaceae

The red skin potato variety is
() Kufri Arun

(2) Kuftri Sadabahar

(3) Kufri Surya

(4) Kufri Girchan

White heart is a physiological disorder
of

(1) Carrot

(3) Muskmelon

(2) Beet root
(4) Watermelon

When CSWRI -  Avikanagar
established ?

(1) 1960 (2) 1962

(3) 1958 (4) 1975
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82.
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81.

82.

In poultry birds state the reproductive

part where the egg remains for
maximum  duration  during its
formation :

(2) Isthmus
(4) Uterus

(1) Magnum
(3) Vagina

Process of giving birth to young one by
Mare is called
(1) Calving
(3) Foaling

(2) Kidding
(4) Furrowing

Which tungicide is used for control of
Downy mildew diseases ?

(1) Karathane

(2) Ridomil MZ

(3) Thiram

(4) Stroptocycline

Which is first critical stage in the
success of mushroom cultivation ?

(1) Pure culture spawn

(2) Adequate base

(3) Conginial environment

(4) Sufficient nutrient supply

‘Black arm” of cotton disease is caused
by
(1)

Xanthomonas compestris p. V.
malvecearum

Clavibacter michiganense
Xanthomonas compestris p. V.
cymopsidis

Pseudomonas syringe

(2)
(3)

(4)

Family is an

(1) Involuntary group
(2) Voluntary group
(3) Temporary group

(4) Informal group

Which of the following crops does show
self-incompatibility ?

(1) Rice (2) Coriander

(3) Taramira (4) Cumin

14
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Pollen culture may be used to obtain
(1) Polyploid plants

(2) Haploid plants

(3) Hybrid plants

(4) Diploid plants

Economics was concerned with “An
enquiry into the nature and causes of
wealth of nations™ said by

(1) J.N.Keynes (2) A.Marshall
(3) Adam Smith (4) L. Robbins

Book “Nature and Significance of
Economic Science™ was written by

(1) L. Robbins
(2) A. Marshall
(3) G.J. Stigler

(4) Watson Donald Stevenson

Micro — Economics is also called :
(1) Employment theory

(2) Income theory

(3) Price theory

(4) Equilibrium analysis theory

Which of the following techniques is
used for separation of protein on the
basis of mobility ot solvent ?

(1) Size'exclusion chromatography
(2) Affinity chromatography
(3) HPLC

(4) Column chromatography

Which of the following group indicates
quaternary structure of protein ?

(2) B - sheet
(4) Globular

(1) o - helical

(3) Random coil
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Who proposed the term combining
ability ?

(1) Paulien Hogeweb

(2) V.C. Wasinger

(3) Kempthorne

(4) Sprangue and Tatum

Which of the following cow breed is

prominantly tfound in Jaisalmer,
Ganganagar, Bikaner districts of
Rajasthan ?

(1) Gir (2) Nagauri

(3) Rathi (4) Tharparkar

Among the following which crop is
suited for ratooning ?

(1) Onion (2) Brinjal

(3) Tomato (4) Bottlegourd

Identify the monocot weed from the
followings ?

(1) Cyprus

(2) Chenopodium

(3) Argimon

(4) Wild amaranthus

Date palm propagating means
(1) Oftshoot
(2) Tissue culture

- (3) Suckers

(4) Both (1) & (2)

NRC on camel is situated at :
(1) Jaisalmer

(2) Bikaner

(3) Tabiji (Ajmer)

(4) Avikanagar (Tonk)

What is the other name for Kangni
(Setaria italica) millet ?
(1) Finger millet (2)
(3) Foxtail millet (4)

Kodo millet
Proso millet

The first crop plant that genome

sequenced
(1) Maize (2) Wheat
(3) Rice (4) Barley

14
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98.

99.

100.

101.

102.

104.

- District

Which one is not a systemic fungicide ?
(1) Mancozeb (2) Oxycarboxin
(3) Carbandazim (4) Metalaxyl
Bikaner falls in which
agroclimatic zone of Rajasthan ?

(1 1A (2) IB
()= 4) 1A
Biofertilizers are :

(1) Organic manure
(2) Mineral fertilizer
(3) Microbial culture
(4) All of the above

Citrus Huanglongbing (HLB) disease is
caused by :

(1) Bacterium

(2) Viroid

(3) Virus

(4) Boron deficiency

Orobanche is a

(1) Total root parasite of tomato
(2) Total stem parasite of mustard
(3) Stem root parasite of mango
(4) Semi stem parasite of bajra

. Viroids have

(1) Either DNA or RNA with protein
coat :

(2) SS DNA with capsid

(3) SS RNA with protein coat

(4) only SS RNA molecule

Out of the following which is not the

characteristics of adolescence ?

(1) Thought becomes abstract and
idealistic.

(2) Begin to establish autonomy from
the family.
(3) An adult-sized body and sexual
maturity. . :
(4) Pre-reading, pre-writing concepts
begin to develop.
O
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106.

107.

108.

. Changes in emotional communication,

self-understanding, knowledge about
other people, skills,
friendships, intimate relationships and

interpersonal

moral reasoning and behaviour of a
person best -describes which of the
following development ?

(1) Physical development

(2) Emotional and social development
(3) Cognitive development

(4) Motor development

the

Which of the

psychosocial stage of adolescence as

following - is

given by Erikson ?
(1
(2)
(3)
(4)

trust versus mistrust

autonomy versus shame and doubt
identity versus role conflict
initiative versus guilt

“Directly observable events, stimuli
and responses are the appropriate focus
of study” best describes the idea of
which of the following ?

(1) Structuralism

(2) Behaviourism

(3) Gestaltism

(4) Functionalism

The age range of ‘adolescents’ comes
under which of the following stage of
cognitive development as given by
Piaget ?

(1) Sensorimotor 'stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

14
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110.

111.

112.

“Human mind might also be viewed as

symbol-manipulating system through
which  knowledge  flows™ this
perspective is known as :

(1) Information processing perspective
(2) Convergent thinking perspective
(3) Psychoanalytic perspective

(4) Dynamic system perspective

Out of the following which cognitive
attainments characteristics is related to
adolescence stage ?

(1) Grasps the logical necessity of
propositional thought.
Improvement in decision making
strategies. :
Thinking in a more organized,
logical tashion about concrete
information.

(4) All options are correct.

[. K. Davis suggested four task for
teacher to manage teaching-learning,
out of the following which is the correct
logical order ?

(1) Organizing — Planning . —
Leading — Controlling

(2) Planning —  Organizing —
Leading — Controlling

(3) Planning © — Controlling -
Leading — Organizing

(4) Leading — Controlling —
Organizing — Planning '

To arrange different elements of

content sequentially to be taught in a
class, which principle is not appropriate
from below mentioned alternatives ?
(1) Known to unknown

(2) Simple to complex

(3) Abstract to concrete

(4) Whole to part
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117

118.

. Microsoft Word, Microsoft Excel are

examples of

(1) System software
(2) Hardware

(3) Spyware

(4) Application software

Who was the propounder of operant
conditioning theory ?

(1) A.A.Lumsden(2) B.F. Skinner
(3) J.S.Bruner (4) Asubel

“Communication is the sharing of ideas
and feelings in a mood of mutuality.”
Who stated this statement ?

(1) Anderson

(2) Lugis and Vigal

(3) Adger Del

(4) Smith and Cambel

Which of the following is not related to
psychological barriers during
communication ?

(1) Prejudice

(2) Physiological ailments

(3) Wrong perception

(4) Over anxiety

Which of the following component is
not related with emotional intelligence ?
(1) Perception, appraisal and
expression of emotion.

) Conditional facilitation of thinking.
) Understanding and  analysing
emotions.

deregulation of emotion.

2 19
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Which of the following process is not
related to operant conditioning ?

(1) Social imitation

(2) Shaping

(3) Extinction

(4) Spontaneous recovery

14
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119. Out of the following, which is not the

120.

121.

122.

=)

other name of adolescence ?

(1) Transitional period of childhood

and adulthood

Problem age

Stage ofst.rcss, strain and storm
Adulthood

A type of learning in which students
tried to learn by emerging new thoughts
or new rule through given learning
material is known as what ?

(1
(2)
(3)

Rote learning
Meaningful learning
Reception learning

Discovery learning

According to Kohlberg’s “A stage of

moral development during which

individuals judge morality largely in
terms of existing social norms or rules”
is known as

(1) Pre-conventional level of morality
(2) Conventional level of morality
(3) Post conventional level of morality

(4) Unconventional level of morality

Which of the following is not an
example of a social reinforcer ?

(1) saying very good
(2)
(3)
(4)

praising the child
making the child monitor of class
providing toffees/edibles to the
child

o
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Which of ‘the following' is a not a

~example of system software 2

(1) UBUNTU .
(2) MS Word
(3) Linux ;
(4) Windows 10

Out of the following which is not th
main element of teaching models ?
(1).:Focusyie s G TSR

. (2) Syntax

(3) Social systém _
(4) Verbal association

. Out of the following which teachin

model does not come undc1 mtonnatm

processing group ?

(1) Concept attainment model

(2) Social inquiry model

(3) BIOIOEIC&I science inquiry 1 model

(4) Advance or g,amzel model alil
RS (1

Who was the propounder of Advanc

Organizer model ot teachmg

(1) 1.S.Bruner s

(2) B. Massials and Cox

(3) David Ausubel-

(4) Richard Suchman

What is full form of CAL? "

(1) Computer Advaneed Instruction
(2) Computer Advanced Informatio
(3) Computer Assisted Instruction
(4) Computer Assisted Information

Which of the following psychologi
emphasized the role of society al
culture in CO},DIUVC developmcnt i
(1) B.F. Skinner -

(2} L@y Vyé,otsky

(3) Jean Piaget

(4) Sigmund Freud
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129. Out of the following, which is not a

teaching  approach  based  on

constructivist principle ?

(1) Co-operative learning approach
(2) Heuristic approach

(3) Group discussion approach

(4) Demonstration approach

. Law of readiness, law of exercise and

law of eftect are related to which of the
following learning theory ?

(1) Trial and Error
(2) Classical conditioning
(3) Social learning
(4) Signal learning

. A negative reinforcement

(1) Increases desirable behaviour
(2) Decreases desirable behaviour

(3) May increase or decrease desirable
behaviour

(4) Decreases undesirable behaviour

. ‘Chaining’ is a concept related to

(1) Classical conditioning
(2) Operant conditioning

(3) Trial and Error

(4) Observational learning

. Out of the following which of the

emotional characteristics usually found
only in adolescence ?

(1) Jealousy

(2) Hero worship
(3) Excitement

(4) Forceful buriosity
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136.

137.

139.

140.

141.

142.

. ‘Aravali’ is a variety of which crop ?

(1) Wheat (2) Maize

. (3) Mustard (4) Barley

. Paddy belongs to family

(1) Fabaceae (2) Poaceae
(3) Pedaliaceae  (4) Asterace

Suitable temperature for Potato tuber
development is _

(1)+10° 10152 € s 5kiS0:49° C
(3) 20°to24°C (4) 25°t030°C

Which is early variety of Potato ?
(1) Kufri Bahar  (2) Kufri Sheetms
(3) Kufri Jyoti (4) Kufri Deva

. Which crop is not a leguminous crop ?

(1) Cotton (2) Groundnut
(3) Moong (4) Pea

The botanical name of wheat is
(1) Triticum aestivum

(2) Hordeum vulgare

(3) Vigna radiata

(4) Arachis hypogea

Protein contain in groundnut is
CLy s (2t
(3) V24 (4) 49

Tightly curved horns are found in
which breed of buffalo ?

(1) Nagpuri (2) Toda

(3) Murrah (4) Surti

Muzaftarnagri is a breed of
(1) Sheep (2) Goat
(3) Buftalo (4) Camel
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. Semen of improved breed of buck can

be deep freezed at :
(1) =196 °C
(3) -166 °C

(2) -96°C
(4) -66°C

Leghorn breed of poultry is popular for :
(1) Meat

(2) Heavy body

(3) Egg production

(4) Egg & meat production

Chicken egg shell is :

(1) 8 —11 percent of total egg weight
(2) 11— 14 percent of total egg weight
(3) 15— 18 percent of total egg weight
(4) 22-25 percent of total egg weight

Foot and mouth disease is caused by :
(1) Bacteria (2) Virus
(3) Fungus (4) Parasite

The most popular edible mushroom in
the world is

(1) Agricus bisporus

(2) Pleurotus sosorcase

(3) Morchella Spp.

(4) Phellorinia inquinans

Irish famine (1845) was associated
with :

(1) Brown leaf spot of paddy

(2) Late blight of tomato

(3) Late blight of potato

(4) Early blight of potato

*Sword lily’ is also known as :
(1) Canna

(2) Gladiolus

(3) Marigold

(4) Chrysanthemum

Carrot is rich in which element ?
(1) Calcium (2) Iron
(3) Potassium (4) Sulphur
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